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Haiiném 3nauenue ¢ynknuu f(X) =
X, =0 X =1 X =-2, X% =3 X, =4 X,
[Monmyuyaem 3HavyeHHE (YHKIIMNA :

Y, =+/-8+16= 2828 y, =+/-1+16= 3873 1+16 = 4123y, =+/8+16 = 4899
Yo =+/27+16 = 6557 y, =/64+16 = 8944; y, = @P5+16 = 11874 y, =/216+16 = 15232

Yo =+/343+16 = 18947, y,, =+/512+16 = 22978 ’

ITo ¢popmyne Curncona:
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X =8,
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J. Vx® +16dx = g(yo Yot AY tYs tYs YY) 2y, + Y8 2828+ 22078+
2

+ 4(3873+ 4123+ 6557+ 11874+ 18947) + 2(4 + 4899+ 8944+ 181496+ 6615) =

= 91151
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Haiiném Toukn nepecedenns Y =3x"+1 y=3x
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= 15—5 = > = 135(ks.e0.).
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